1. Check the website regularly.
2. Visit relevant subject links.

3. Utilize your time well to explore, learn and share.




Class: Xl (English Core)
Snapshots {Supplementary Reader)

Lesson: The Summer of the beautiful White horse
By William Saroyan

Work sheet No. 2
0.1 Answer the following questions in about 40-50 words each.
a, What did Aram see when he looked out of the window? Why could he not believe what he saw?
b. What do we learn about uncle Khosrove from the extract?
¢. What was Mourad’s hide out for the harse?
d. How did Khosrove react to John Byro's problems?
e. The farmer studied the horse carefully. What do you think John must be thinking?

f. Why was Aram delighted and frightened at the same time when he saw his cousin, Mourad on a
beautiful white horse?

0.2 Answer the following questions in about 120-150 words each.
a. Both bovys in the story are adventure lovers. Discuss
b. Describe the ride of Mourad and Aram on the stolen horse
Chapter—2
The Address by Marga Minco
0.3, Answer the following questions in about 40-50 words each,

1. Why did the narrator ask the woman; do you still know me & what could be the relationship
between the woman and the girl who stood outside the door?

2. What Is the Importance of the question: Have you agreed with her that she should keep
everything?

3. What memories did the girl have of Mrs. Dorling?
d. Why did the narrator feel horrified and oppressed once she was in the living room?

5. Mention some of the precious possessions that Mrs Dorling has carried to her place?

0.4 Answer the following questions in about 120-150 words each,
1. Describe the narrators meeting with Mrs Dorling after the war was over.
Old memories are not always pleasant.

Discuss in relation to the story. ‘The Address’.
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Chemistry is the branch of science that studies the composition, properties and interaction of
matter. ,
Chemical principles are important in diverse areas, such as : weather patterns, functioning of
brain and operation of a computer.

Chemical industries manufacturing fertilisers, alkalis, acids, salts, dyes, polymers, drugs, soaps,
detergents, metals, alloys and other inorganic and organic chemicals, including new materials,
contribute in a big way to the national economy.

Many life saving drugs such as cisplatin and taxol, are effective in cancer therapy and AZT
(Azidothymidine) used for helping AIDS victims, have been isolated from plant and animal
sources or prepared by synthetic methods.

Anything which has mass and occupies space is called matter.

Everything around us, for example, book, pen, pencil, water, air, all living beings etc., are
composed of matter.

Matter can exist in three physical states viz., solid, liquid and gas.

Salid Liquid Gas

Fig. 1.1 Arrangement of particles in solid, liquid and gaseous states

Solids have definite volume and definite shape.

Liquids have definite volume but not the definite shape. They take the shape of the container
in which they are placed.

Gases have neither definite volume nor definite shape. They completely occupy the container
in which they are placed.

These three states of matter are interconvertible by changing the conditions of temperature and
pressure,

: heat SE h
Solid ———= Liquid 2 s Qas
cool cool

Matter can be classified as mixtures or pure substances.
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13. A mixture conlains two or more substances present in it (in any ratio) which are called its
components.

14. A mixture can be homogeneous or heterogeneous.

15. In am:jﬁﬁnié_ﬁﬁxt_u re, the components completely mix with each other and its composition
is uniform throughoul.

16. In heterogencous mixture, the composition is not uniform throughout and sometimes the different
components can be observed. J

17. Pure substances have fixed composition, whereas mixtures may contain the components in any
ratio and their composition is variable.

18. Pure substances can be further classified into elements and compounds.

19. An element consists of only one type of particles. These pﬂl'ticles may be atoms or molecules.

20. Hydrogen, nitrogen and oxygen gases consist of molecules in which two atoms combine to give
their respective molecules. This is illustrated in Fig.1.2,

Atoms of different elements

e H i ':. H —_— eH &H
an atom of another atom of a molecule of
hydrogen (H) hydrogen (H) hydrogen (H3)
g + GO — &0 _ 0]
an atom of another atom of a molecule of
oxygen (O) oxygen (O) oxygen (O3)

Fig. 1.2 A representation of atoms and molecules

21. When two or more atoms of different elements combine, the molecule of a compound is obtained.
22. The molecules of water and carbon dioxide are represented in Fig. 1.3

(8]
ﬁ', 3 ? ke H [ & H
g I‘.{_.'L ke =
Water molecule Carbon dioxide
oxygen (H.0) molecule (CO5)

Fig. 1.3 Depiction of molecules of water and carbon dioxide
23. Every substance has unique or characteristic
two categories — physical properties and chemical properties.

24. Physical properties are those properties whi
_ : ich can be measured or obser ‘ ring
the identity or the composition of the substance. observed without changing

25. The measurement or observation of chemical
26. The International System of Units (in French
SI) was established by the 11th General Con

properties. These properties can be classified into

Properties require a chemical change to occur.
Le Systeme International d’Unités — abbreviated as
ference on Weights and Measures (CGPM from
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Conference Gt’”t_'m!:* des Poids at Measures). The CGPM is an inter governmental treaty organisation
created by a diplomatic treaty known as Metre Convention which was signed in Paris in 1875,

27. The Sl system has seven base units and they are listed in Table. These units pertain to the seven
fundamental scientific quantities.

Base Physical Quantity Name of SI Unit Symbol for SI Unit

Length metre m

Mass kilogram kg

Time second s

Electric current ampere A
Thermodynamic temperature kelvin K

Amount of substance mole mol
Luminous intensity candela cd

28. The other physical quantities such as speed, volume, density, etc.,, can be derived from these
quantities.

29. The Sl system allows the use of prefixes to indicate the multiples or submultiples of a unit.
These prefixes are listed in Table.

Multiple Prefix Symbol
1072 pico p
117 nano n
10 micro il
107 milli m
1072 centi c
107! deci d
10 deca da
102 hecto h
10° kilo k
108 mega M
10° giga G
1012 - tera T

30. Mass of a substance is the amount of matter present in it while weight is the force exerted by
gravity on an object.
31. The mass of a substance is constant whereas its weight may vary from one place to another due
to change in gravity.
32. A common unit, litre (L) which is not an SI unit, is used for measurement of volume of liquids.
1 L = 1000 mL, 1000 cm® = 1 dm®

Valume ;1000 cm:
1000 mL;
1 dm?;
1L

Volume : 1 cm?
1mL

1 cm
- fa—

10 em =1 dm-—=

Fig. 1.4 Different units used to express volume

1cm
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33.

34.

35.

36.

37.

39.

40.

41.

42,

- The uncertainty in the experimental or the calculated values is in

Density of a substance is its amount of mass per unit volume. So, SI units of density can b
obtained as follows :

SI unit of mass
SI unit of volume

SI unit of density =

% or kg m™

H 1 -3 15 &% ML
This unit is quite large and a chemist often expresses density in g cm™, where mass is expressed
in gram and volume is expressed in ¢m®, |
The temperatures on Fahrenheit and Celsius scales are related to each other by the following
relationship :

9
*F=—(°C)+32
E S(CJ

The kelvin scale is related to celsius scale as follows :
K=°C + 273.15
The problem of very large and very small molecules is solved by using scientific notation i,
exponential notation in which any number can be represented in the form N x 10", where n is
an exponent having positive or negative value and N can vary between 1 to 10.
Precision refers to the closeness of various measurements for the same quantity. However,
accuracy is the agreement of a particular value to the true value of the result.

dicated by mentioning the
number of significant figures,

Significant figures are meaningful digits which are known with cerfainty. The uncertainty is
indicated by writing the certain digits and the last uncertain digit.

Dimensional Analysis : Often, there is a need to convert units from one system to other, The
method used to accomplish, this is called factor label method or dimensional analysis.

Example : A piece of metal is 3 inch (represented by in) long. What is its length in cm ?
We know that 1 in = 254 em

From this equivalence, we can write

lin s 254 cm
254 cm lin
lin 2.54 em
Thus 2 5iom equals 1 and T also equals 1. Both of these are called unit factors. If some
number is multiplied by these unit factors (ie, 1), it will not be affected otherwise.
Say,

the 3 in given above is multiplied by the unit factor. So,

254 cm

3in=3in x T =3 X254 cm = 7.62 em

Now, the unit factor by which multiplication is to Be done is that unit factor ( 2.5 cm in the

above case) which gives the desired units ie., the numerat o
s ; - Rhid 0or Sh{}uld hl: L t I 5
required in the desired result. ave that part which is

Law of Conservation of Mass : It states that matter can neither be created nor destroyed. This law
was put forth by Antoine Lavoisier in 1789, '
Law of Definite Proportions : This Jaw was given b

| : Yy a French chemist, Joseph Proust. He
stated that a given compound always contains exactly the same proportion of elements by weight.
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43. Law of Multiple Proportions : This law was proposed by Dalton in 1803. According to this
law, if two elenients ean combine fo form amorve than one compound, the masses of one element thal
combine with a fixed mass of the other element, are in the ratio of small whole numbers.

44. Gay Lussac’s Law of Gaseous Volumes : This law was given by Gay Lussac in 1808. He
observed that when gases combine or are produced in a chemical reaction they do 50 in a simple ratio
by voltume provided all gases are at same temperature and pressure.

45. Avogadro’s Law : Equal volumes of gases at the same temperature and pressure should contain equal
number of molecules.

46. Dalton’s Atomic Theory : In 1808, Dalton published ‘A New System of Chemical Philosophy”’
in which he proposed the following
1. Matter consists of indivisible atoms.

2. All the atoms of a given element have identical properties including identical mass. Atoms
of different elements differ in mass.
3. Compounds are formed when atoms of different elements combine in a fixed ratio.

4. Chemical reactions involve reorganisation of atoms. These are neither created nor destroyed
in a chemical reaction.

5. Dalton’s theory could explain the laws of chemical combination.

47. Atomic Mass : The present system of atomic masses is based on carbon-12 as the standard and

has been agreed upon in 1961. Here, Carbon-12 is one of the isotopes of carbon and can be
represented as 12C.

48. In this system, C is assigned a mass of exactly 12
other atoms are given relative to this standard.

One atomic mass unit is defined as a mass exactly equal to one-twelfth

carbon-12 atom.,

50. Today, ‘amu’ has been replaced by ‘u’ which is known as unified mass,

51. Average Atomic Mass : Carbon has the following thiee isotopes with
masses as shown against each of them.

atomic mass unit (amu) and masses of all

49, the mass of one

relative abundances and

Relative Abundance Atomic Mass
Isotape (%) (amu)
12~ 98.892 12
13c 1.108 13.00335
1 ' 2 o¢- M 14.00317

From the above data , the average atomic mass of carbon will come out to be :
(0.98892)(12 u) + (0.01108)(13.00335 ) + (2 x 107H(14.00317 u) = 12011 .
32. Molecular Mass : Molecular mass is the sum of atomic masses of the elements present in a

molecule. It is obtained by multiplying the atomic mass of each element by the number of its
atoms and adding them together.

53. Formula Mass : The formula such as NaCl is used to calculate the formula
molecular mass as in the solid state sodium chloride does not exist as
Thus, formula mass of sodium chloride = atomic mass of sodium +

=20u+355u=585y

3. Mole Concept and Molar Masses : One mole is the amount of a substance that
many particles or entities as there are atoms in exactly 12 ¢ (or 0.012 kg) of the

55. The mole of a substance always contain the same number of entities, no ma
substance may be,

mass instead of
a single entity.
atomic mass of chlorine

contains as

I°C isotope.
tter what the
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56.

57.

58.

59.

60.
61.
62.
- 63.

64.

65.

66.

;. B,

68.

The number of entities in 1 mol is so important that it is given a separate name and symbol,
known as ‘Avogadro constant’, denoted by (N).
The mass of one mole of a substance in grams is called its molar mass. The molar mass in
grams is numerically equal to atomic/molecular/formula mass in u.
mass of that element in the compound x 100

molar mass of the compound

Mass % of an element =

An empirical formula represents the simplest whole number ratio of various atoms present in
a compound whereas the molecular formula shows the exact number of different types of atoms
present in a molecule of a compound.

If the mass per cent of various elements present in a compound is known, its empirical formula
can be determined. Molecular formula can further be obtained if the molar mass is known,
Stoichiometry, deals with the calculation of masses (sometimes volumes also) of the reactants
and the products involved in a chemical reaction.

A balanced chemical equation has the same number of atoms of each element on both sides of
the equation. Many chemical equations can be balanced by frial and error.

The reactant which gets consumed, limits the amount of product formed and is, therefore,
called the limiting reagent.

The concentration of a solution or the amount of substance present in its given volume can be
expressed in any of the following ways :

1. Mass per cent or weight per cent (w/w%)

2. Mole fraction

3. Molarity

4. Molality.

Mass per cent : It is obtained by using the following relation :
s f
Mass per cent = hega snlu.te %100
Mass of solution

Mole fraction : It is the ratio of number of moles of a particular component to the total number
of moles of the solution.

Molarity : It is the number of moles of the solute in 1 litre of solution. Thus,

Molarity (M) = Number of moles of solute
Volume of solution in litres

E’mlﬂlify + Itis defined as the number of moles of solute present in 1 kg of solvent. It is denoted
y m.
Thus, Molality (1) = Number of moles of solute

Mass of solvent in kg
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CBSE Quick Revision Notes
CBSE Class-11 Biology
CHAPTER-01
THE LIVING WORLD

Life is a unique, complex organization of molecules that expresses itself through chemical

reactions which lead to growth, development, responsiveness, adaptation and reproduction.

The objects exhibiting growth, development, reproduction, respiration, responsiveness and

other characteristics of life are designated as living beings.
Unique features of living organism:-

1. Growth- Living organisms grow in mass and number. A multicellular organism increases
its mass by cell division. In plants growth continuous throughout life in their
meristematic area but in animals, growth occurs to a certain age. Unicellular organisms
also grow by cell division. Living organisms show internal growth due to addition of
materials and formation of cells inside the body. Non living organism like mountains,
boulders, crystals also grow but due to addition of similar materials to their outer
surface.

2. Reproduction- It is the formation of new individuals of the similar kind. Reproduction is
not essential for survival of the individuals. It is required for perpetuation of the
population. In sexual reproduction two parents are involved to produce more or less
similar kinds of individuals. In asexual reproduction single parent is involved and
individual is copy of the parent. Asexual reproduction may occurs by fission,
fermentation, regeneration, vegetative propagation etc. In unicellular organism, growth
and reproduction are synonyms. Many organisms like mules, sterile worker bees,
infertile human couples do not reproduce. Therefore, reproduction is not an all-inclusive
characteristic of living organism. However, no nonliving object has the power to
reproduce or replicate.

3. Metabolism- The sum total of all types of chemical reactions occurring in an individual
due to specific interactions amongst different types of molecules in the interior of cells is
called metabolism. All activities of an organism including growth, movements,

development, reproduction etc. are due to metabolism. There are two types of
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metabolism- Catabolism and Anabolism. Anabolism includes all the building up reactions
to increase the mass of the organism like photosynthesis. In catabolism breakdown
reactions are involved, such as respiration, digestion etc. no nonliving object show
metabolism.

4. Consciousness- It is the awareness of the surroundings and responding to external
stimuli. External stimuli may be physical, chemical or biological. Plants also responds to
stimuli like light, water, gravitation, pollution etc. All living organisms prokaryotic to
eukaryotic responds to different kinds of stimuli. Human being is only organism who is
aware of himself. Consciousness therefore, becomes the defining property of living
organisms.

5. Life span- every living organism has a definite life span of birth, growth, maturity,
senescence and death.

6. Living organisms are therefore, self-replicating, evolving and self-regulatory interactive

systems capable of responding to external stimuli.

Diversity in the living world or biodiversity is the occurrence of variety of life forms differing
in morphology, size, colour, anatomy, habitats and habits. Each different kind of plant,

animal or microorganisms represents a species.

Currently there are some 1.7 — 1.8 million living organisms known to science. Out of which

1.25 are animals and about 0.5 millions are plants.

e Identification

e Nomenclature

e (lassification

e Systematics is branch of biology that deals with cataloguing plants, animals and other
organism into categories that can be named, compared and studied.

e Identification is the finding of correct name and place and place of an organism in a
system of classification. It is done with the help of keys. This is carried out by
determining similarity with already known organisms.

e Nomenclature is the process of standardize naming of living organism such that a
particular organism is known by the same name all over the world. For plants
scientific names are based on international code of botanical nomenclature (ICBN)
and animals names on international code of zoological nomenclature (ICZN).

Scientific name ensures that each organism has only one name.
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Biological nomenclature- It is the universally accepted principles to provide scientific name
to known organisms. Each name has two components- generic name (genus) and specific

epithet (species). This system of nomenclature was provided by Carolus Linnaeus.
Mango- Mangifera indica.

Human beings- Home sapience.

Universal rules of nomenclature:-

1. Biological names are generally in Latina and written in italics.

2. The first word in a biological name represents the genus while the second component
denotes the specific epithet.

3. Both the words in biological name, when handwritten, are separately underlined, or
printed in italics.

4. The first word denoting the genus starts with a capital letter while the specific epithet

starts with small letter.

e (lassification- It is the process by which anything is grouped into convenient
categories based on some easily observable characteristics. Classification makes the
study of organisms convenient.

e Taxonomy- The process of classification on the basis of external and internal
structure along with internal structure of cell, development process and ecological

information is known as taxonomy.
Taxonomic categories

A taxonomic category is a rank or level in the hierarchical classification of organism. There
are seven obligate categories and some intermediate categories. Since the category is a part
of overall taxonomic arrangement, it is called taxonomic category and all categories together

constitute the taxonomic hierarchy.
Taxonomic hierarchy is shown below:-

KINGDOM

i
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DIVISION/PHYLLUM

i

CLASS

ORDER

i

FAMILY

i

GENUS

i

SPECIES

e Species- Species are the natural population of individuals or a group of population

which resemble one another in all essential morphological and reproductive

characters so that they are able to interbreed freely and produce fertile offspring. For

Mango tree indica is species of genus Mangifera(Mangifera indica).

e Genus- it is a group of related species which resemble one another in certain

correlated characters. All species of genus presumed to have evolved from a common
ancestor. Lion, Tiger, Leopard are closely related species and placed in same genus
Panther.

Family- It is a taxonomic category which contains one or more related genera. All
genera of a family have some common features or correlated characters. Family
Solanacaeae contains a number of genera like Solanum, Withania, Datura etc.

Order- This category includes one or more related families. Families felidae and
canidae are included in same order carnivore.

Class- A class is made of one or more related orders. The class dicotyledoneae of
flowering plants contains all dicots which are grouped into several orders like roales,

polemoniales, renales etc.
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Division/Phylum- The term phylum is used for animals while division is used for
plants. They are formed of one or more class. The phylum chordate of animals
contains not only the mammals but also aves, reptiles, amphibians, etc.

Kingdom- It is the highest taxonomic category. All plants are included in the kingdom
Plantae while all animals belong to kingdom Animalia.

Taxonomic Aids:- Techniques, procedures and stored information that are useful in
identification and classification of organisms are called taxonomic aids.
Herbarium-Herbarium is a place where dried and pressed plants specimens,
mounted on sheets are kept systematically according to a widely accepted system of
classification. The herbarium sheets also carry a label providing information about
date and place of collection, English, local and botanical names, family, collector’s
name etc.

Botanical garden- They are specialized gardens having collection of living plants for
reference. Plants in these gardens are grown for identification purpose and each
plant is labelled indicating its scientific name and family. The famous botanical
garden includes Royal botanical garden, Kew (London), Indian botanical garden,
Kolkata and National botanical garden, Lucknow.

Museums- Biological museum is set up in educational institutions like colleges and
school for reference purposes. Specimens are preserved in the containers or jars in
preservative solutions or as dry specimens. Insects are preserved in insect boxes after
collecting, killing and pinning.

Zoological parks- These are the places where wild animals are kept in protected
environments under human care and which enable us to learn about their food habits

and behavior. Natural habitats are provided as far as possible.

Key- Taxonomic key is an artificial analytic device having a list of statements with

dichotomic table of alternate characteristics which is used for identifying organisms. Usually

two contrasting characters are used. The one present in the organism is chosen while other is

rejected. Each statement of a key is called lead. Separate taxonomic keys are used for each

taxonomic category like species, genus, family, etc. Keys are generally analytical in nature.

Flora,

manuals, monographs and catalogues are some other means of recording descriptions.
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COMPUTER SYSTEM ORGANIZATION
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What is Computer?
-

0 A computer is an electronic device that can perform
a variety of operations in accordance with set of
instructions called progrr.:m &

0 A computer can be defmﬁed as an electronic device
which accepts input I;E'-rn the user, process the input
and produce the desired output.
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Basic Computer Components

I |

Systemn Lnit Screen Monitor
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Introduction

e |

o Our present day life is so automatic that most of the tasks are accomplished
with a click of a button. In every sphere of life, machines dominate human
efforts. Let us take the case of cash withdrawal from a bank ATM. The user
is required to press only a few buttons tg-authenticate his identity and the
amount he wishes to withdraw. Then _gf,i_t'ﬁin seconds the money pops out of
the ATM. During this process, the mféfde working of bank ATM is beyond
imagination of the user. Bruudlf\spenkmg, the ATM receives certain data
from the user, processes it ::ny gives the output (meney). This is exactly what
a computer does. Fﬂrmutly,?: computer can be defined as follows:

o " An electronic device which is capable of receiving information (data) in
a particular form and of performing o sequence of operations in
accordance with a  predetermined but  varioble set of
procedural instructions (program) to produce a result in the form of

infermation or signals.”
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Introduction

O computer performs basically five major functions
irrespective of its size and make.

o

It accepts data or instructions by‘way of input

: .Q ¥
« It stores data N4

-l:"..
O
» It processes data as reqj‘r?ed by the user

+ It controls uperu’rions«gi? a computer

= It gives results in the form of output -P-O Cycle
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Block Diagram of Computer

Input

Devicos

0

%
0

B

Main/ Primary Secondary/ Auxiliary
Memory Memory

—— Data Paths Control Signals

Figure 1.1 Block diagram of fintettonal units of a computer
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Block Diagram of Computer

R |

0 The above diagram describes the basic layout of a
computer. A campuier receives data and instructions
through "Input Devices" which get processed in Central
Processing Unit, "CPU" and. Jhe result is shown Thmugh
"Qutput Devices". The M&ln / primary Memory" and
"Secondary / AUHI'IHI‘)’ Memnr)r are used to store
data inside the gomputer. These are the basic
components that each computer possess. Each of these
components exists in various types and variety that
differ in shape, size, usage and performance. The user
makes a choice according to his specific requirement.
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CPU

0 Stands for Central Processing Unit

0 Also known as the Brain of Cnmpufer,

o It convert the Input into Outpu’r

0 CPU perform its npermmn with the help of its 2

subunits :- ,1:-:\“""
1 ALU : Arithmetic nﬁd Logic Unit

2 CU : Control Unit
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ALU

o ALU Perform all the arithmetical and logical
operations.

o Arithmetic operations like Q;Ef o

o Logical operation like coﬁlpurlsan or decision
making like: >, <, =,.>=, <=, <>
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CU

o Control and guides the interpretation of all the
data and information.

s B
0 It coordinates the differént units attached fto

O

computer system. b

0 It takes input from Input device and store it in main
memory, then it send the data to ALU if any
arithmetic operation is required after this it transfer

the output to output devices.
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Memory of Computer

__|8

00 Memory refers to the place where data is stored
temporarily or permanently.

O Input must goes to Memar}r Unit then only any action
on it can be perfarmed

0 Computer Memory lgﬁ.bus:cully of 2 types:

& Primary Memory

B Primary or main memory stores information(data and
instruction)

1 Secondary Memory

m Stores the data permanently for future retreival
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Primary Memory

| _—— - o
0 Random Access Memory (RAM)

i1 It is the working memory, right from the booting of
computer till the computer is shutdown this memory is in
use to store all the apernti&"n done by the computer

1 is used for primary stnruge in computers to hold active
information of dntn*-r.:md instructions.

1 It holds data temporarily i.e. Volatile Memory

1 Data is lost if Power Off
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Primary Memory

0 Read Only Memory (ROM)

7 ROM (Read Only Memory) is used to store the
instructions provided by the manufacturer, which holds
the instructions to check hﬁﬁi'c hardware inter connecter
and to load apergﬁi‘fﬁ system from appropriate

b

L 5

storage device &
It is also known as FIRMWARE

o Its data is stored permanently on it so it is non-volatile
device.
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Unit of Memory

The elementary unit of memory is a bit (binary digit)

Zero(0) & One(l)

4 BIT A NIBBLE
8 BIT & BYTE
1024 BYTESS 1 KILO BYTE(KB)
1024 KB 1 MEGA BYTE(MB)
1024 MB 1 GIGA BYTE(GB)
1024 GB 1 TERA BYTE(TB)
1024 TB 1 PETA BYTE(PB)
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Secondary Storage Devices

|

o If we want to save data for future reference and retrieval
then it needs to be saved in memory other than primary
memory, which is called SEEDHdEFY memory, or auxiliary
memory. Normally hard disk® “of computer is used as
secondary memory but thlsfis not portable so there are
many other secondary s’rnr‘uge media in use.

0 Example: __ﬁv._‘-"""
1 Hard Disk
1 CD/DVD
o1 Pen Drive

o Fleppy, ete.
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Secondary Storage Devices

—

o HARD DISK :

o A hard disk drive (HDD; also hard drive, hard disk, or disk
drive) is a device for storing and retrieving digital
information, primarily cnmplit:é‘tt'"dufn.

1 It consists of one or lpp?e rigid (hence "hard") rapidly
rotating discs (often xgé%erred to as platters), coated with
magnetic material dnd with magnetic heads arranged to
write data to the surfaces and read it from them.

i1 Generally hard disks are sealed units fixed in the cabinet. It
is also known as fixed disk : '
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Secondary Storage Devices

o FLOPPY DISK : It is a data storage medium that is made

up of a disk of thin, flexible magnetic material enclosed in
I

a cover. Its capacity is 1.44 MB,
¥
Al

& i -

&
o COMPACT DISK (CD):% Capacity of standard 120mm CD
is 700MB. It is a thin optical disk which is commonly used
to store oudio and video data. Transfer speed s

mentioned as multiple of 150 KB/s. 4x mennsﬁ
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Secondary Storc:ge Devices (
-

| IR - S

o DIGITAL VIDEO DISK (DVD) : This is an optical disc
storage device. It can be recorded on single side or on

double side. lts capacity muyg»rnnge from 4.7 GB to
8.5 GB. Dﬂ

o PEN DRIVE :This is small, xpurruble memory, which can be
plugged into a cnmpute? with USB Port.

They have cupucl’ry lesser than hard disk but much
larger than a floppy or CD. They are more reliable also.

They are also called pen drive. ’
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Input Devices

O These are the devices used to give input to
computer for processing.

O Input may be in form of ’re_:étﬁmﬂges, audio, etc.

- bl:'w__l-.
0 Input Devices example%@:\
4
o

o Keyboard 2
= Mouse

o1 Joystick

o Scanner

O Ete.
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KEYBOARD

Function.Keys

H?f@iric Keys
'3

™

Control Key N R NN

This is the most common input device which uses an arrangement of buttons or
keys. In a keyboard each press of a key typically corresponds to o single
written symbol. However some symbols require pressing and holding several
keys simultaneously or in sequence. While most keyboard keys proeduce
letters, numbers or characters, other keys or simultansous key presses can
produce actions or computer commands.
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) Wireless
Dpﬂ:ul Mouse

Mechanical Mouse

A mouse is o pointing device that fyﬁrﬂans by deteding two-dimensional
motion relative to its suppurtlng “surface. The mouse's motion typically
translates into the motion of a’cursor on a display, which allows for fine
control of a Graphical User Interface. A mouse primarily comprises of
three parts: the buttons, the handling area, and the rolling object. Using
left button of mouse different operations like selection, dragging, moving
and pasting can be done. With the right button we can open a context
menu for an item, if it is applicable.
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SCANNER

.

Scanner is a device that optically scans images,
printed text, handwriting, or an object, and

converts it to digital image. &

¢

JOYSTICK

A joystick is an input device cng;{i?ﬁng of a stick that pivots
on a base and reports its angle or direction to the device it
is controlling.

Many people use joysticks on computer games involving
tlight such as flight simulator.

loysticks are often used to control video games, and usually

hove one or more push-buttons whose state can also be
read by the computer
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TOUCH SCREEN

I

A touch screen is a computer display screen that is also an input device.
The screens are sensitive to pressure; a user interacts with the computer
by touching pictures or words on the screen.

O

You may see it at as KIOSKS insmﬂ_lg:ﬂ"in various public places like ATM
machines, Railway's PNR Checkingmachine etc.

MICROPHONE

It is used to input audio data into the computer. They are mainly used
for sound recording.

Scanned by CamScanner



OUTPUT DEVICE

|

0 Qutput device is used to display the output to user
either in soft copy or hard copy.

0 Soft copy output appears _Eﬁéir"rmnifur whereas hard
copy output appears on paper by printer.

o Various output devi;gﬁg’?hre:

1 Menitor =

1 Printer

1 Speaker

1 Projector etc.
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Monitor

0 Also known as Visual Display Unit (VDU)

O It is the primary output dewce where we see the

output. It looks like TV. G,ﬁ”—‘
o lts display may be CETEL"CD or LED
0 CRT — Cathode ray 4 hﬂ::e
1 LCD - Liquid Cr}rstnl Display

0 LED - Light Emitting Diode
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Printer

|

01 Printer produces output on paper.

0 There are various types of printer available in
market like: &

o Dot Matrix Printer : us_ﬁr_s“:"’i_;'ifbban and hammer
technology. Its quulil’gﬁié not very good. Output is

printer by making object using small dots.

e
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Printer
-

0 Inkjet/Deskjet Printer: is a type of computer printer that

creates a digital image by propelling droplets of ink onto
paper. &

L-"\.

0 Laser Printer : These prrn’rﬁ'rs use laser technology to
produce printed dccumen?s These are very fast printers

and are used for hlgh Gi‘l..lGI'II}f prints. \/ .
\E

-T'-_-_-_‘_'_"‘—-—-._ li':

h’m |
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CMOS

-.. @
0 complementary metal-oxide semiconductor

0 CMOS is an onboard, battery powered semiconductor
chip inside computers that storesfinformation.

o This information ranges fm@s”’\fhe system time and date to
system hardware settings:for your computer,
3

o CMOS battery is ge,n%x}'ully used to give backup support
to BIOS program.
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BIOS

o The basic input/output system (BIOS) is also commonly
known as the System BIOS. The BIOS is boot firmware, a
small program that controls 'utﬂrluus electronic devices
attached to the main cnmpu;eﬁ sysTem

o It is designed to be the x’f\‘l‘S'l' set of instructions run by a
Computer when puwgr-ad on. The initial function of the
BIOS is to initialize system devices such as the RAM, hard
disk, CD/DVD drive, video display Enrd ﬂnd n’rher

hardware.
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Mathematics

(041)

SETS

Avwel ba s enBeeticn af wel-defned and well Satinpushed
obacts al eur perceplion or thought.

1.1 Noiathoms

Thee sets are nsully descded by capeial leters &, B, C, ofc
] Theer imciners orclemoils af e el aro denobed Ly kwo-
sz lefiersa, b, de. IFx = w member ol e set A we wmiie
%o Afnendpe l"l.l'llﬂl'lllpa-'Il:l-"|':|'!Il] 1F5 b 10 @ mesnher of the
s A vl wrile £ g A(pead as ' does poi bedongr o AL IFR
mrcl y bl belonE A, WEWTIE X, ¥ £ A

. REPRESENTATION OF & SET

Usinlly, 5% me nepresented in The fellowmp fwve ways -
M Rnerer fsnmnr Tabulsr frm
0 Sel Builder foon or Rk Metlod

1.1 Rosler Farm

[ has fony, we lisd @1l ihe i nfeer alihe sel welan braces
[ty brmcboets ) mmd ceparate these by connms. Foresanple,
(o st O L 0] paprred iRmibseis Less Lt 1O die Rose

TR R ST R

& ={k3, 57,5

P

Tei poster Bormes every ehesoe of the ser s lebed
mnly poee

i The order i wivich the elemenis are’ bsied 15
AT
For sxample, each of the fllowing s=ts denotes.
e same st {1,2, 34, 43,2, 1), {1,3.2

1.2 Sei-Bulider Forns

Tiw thiks Trormn, woe wrie 0 varinble oy ) repressnting any
metnber of te st followed by a propery sitisfied by cach
memberaf i st

For a1 st Aol all poos puiideers Bess s 10 10
the set-buibder farm is woilen s

A i s a i niouber bess that 10}

T syinbal T st for the words sasch (haf". Seooetimes,
we vse The symbal ** i place af the spnboed §

TYPES OF SETS

3.1 Ensgay Set or Toall et

A& gt wlniels has nio elemee is called the mill cot o5 empiy
get 1t i denoted by the symbol 4.

Fur example, epch of the followmg is o uold] set

i) The et of all peal menhers whose square s =1,
{h)  The ser of all reional numbers whose suace is 2
] [ Toe dard oo ] ooty sl e Dty v el ]

A sl comsisting of atleas! one clemen is called &
con-sinply =L

3.1 Singleien Sei

A s havring only cne elment is called sinpleron s,
Fest g, [0 10 o singafetsis set, vlioas oy mosmober b,

3.3 Finte aad Infinbie Set

A sex wiich has fombe mumber of elemenis is called & finte
st Dlierwime, il is called an infinge set

For exenple, the set of all days in @ week is a fmile =07
wheteas the et of all meegers, depoled by

s Z s 0L L 2, ] o (] X i an fregeer ), s an indinme sel.
Anempty el 4 which has mo ebement ina fnite set A s
endlef ey of woid oo ] ses
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YA Carddinal Mumsder

The rmmbeet of ebernenss un Soie se1 s represented by nlAj,
vy 83 Cidasal pmnles

5.5 Equal Seis

Dwey sets A amdl D are siid 10 be eopals, writen ms A = H, il
every cleswen of A b in B oad every cleasem of B oA

35 Equivabing thl

Twwor e sty A and B ane said o be egaivident, if o
{Al =n (H), Clealy sial seie e ecpiniabonl Ind eqiaavalen
st need mot be aqual

For sxanle; the ssta A= 4 5 3, TyandB= {1 & § 0} &re
gciualent bait are nol evqual.

&7 Bl

Lt Aamd B be fwe sets. every elements of A i an elémen)
af B, then A called a subset of B and wewpine A = Bor
B 23 Adroad e A ds cotinined i B or B coninies A7), B &
called superser of A

aAl

Eweryset is mmbset mmd n supémet paeld.
TCA 8 ot & sultesed of B, we wmite A @ B
Thee empty set 15 b subset of every sl

I 4 i & set wiih m{A) = o, then the mumber of
subseis of A are 2= and the pamber of proper

snihaets af A are 22 -1

3 E =S

For exanmile, et A= {3, 4], dien the subuess oA
& §  £3], (43 F3 4k Heve, ol{A) =1 and plimbe

afuabnete of A=2'= 4 Also, (3] = (343001 {23}
£

A8 Poveer Sl

The et ol all subsets oof 2 givem st Ads callod the power sei
afl A pndl s depodzd by P{a).

For example.ifa= {1.2,3], beu

PeAd= L L 120 D30 02) (N2 23], (L2 3E)

Llearhy, 1f A has o elements, then its porer sef 1*{A ) cormins
eanctly I elenens

4. OPERATIONS ON

lu Unionof Tweo S“J

Th tinioet &l v sels A el B, wnllenm naA o) B (read oA

(o B 85 the set eonsisiing of all e ebevsents which are
el vin A oa i B oor qo Bl This,

AvdB=ar r e Ay 0]
Clemly,x ¢ A WD = 5 ¢ Aorx e B, and

ag AisB = og Aandx ¢ B,

Comziration of
i vhadesd ragimny

O i el

Thu b il 18

For exanphe if A= {a. boo d} and B = je, d. &, [}, deen
A BE=[ahedef

4.2 Intermotion of Tworgks

The mifersectist of fon wels A ] B waien g A ~ B
(] i A7 it "Bk e u-lnu.unlhg al all 1hee
commiom lemmnts of & pod B Thus,

A BE{XIX o AsndX o B}

Ceafrx g A B = x pAandx g B i

RgA - 0y ghors g 1.

u Tha chaded regaos
—a= il b csimeran
b5 both The whasded
LR R T
fammction of sshy
& B

For exammple. ifA = {a b ¢ diand B = {e d 2 [}, en
A BE o d).
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4.0 E¥lsfeing Sels

Tam st Aand B ove snid tohe digjoint, ifA ~B= 4§ iz A
A T hoee o element m o coprames

29

4 Compliinien! ol a 5ol

1657 is 2 universal et and A ik 0 suliset of U dhen the
complement of A is the sed which comtzins those dewenis
of U, which mre ool soustsned o A and 15 degoted by
Alor AT Thus,

A iy e Unndn @A)

Forexmule, U= {1334 ) mdA {3468, ). then Ar=

(1347,
Impertant Hemli
For example, if A = {1, 3, 5} and B = {2, 4, 5], " .
then A B = f =0 Amd [ are disjoint sets. AfF=d b 4=L1 81 A AF =
4.4 Dilfrrance of Two 2uis g
™
TEA amd B aee two seds, dhen dheer differesce A« B is defimed
as ! 5. ALGERRAA OF SETS
AP e v o Sondy g B
7 L Forauy st A, we e
Sanmilm¥p, B-A" [r.x g Bads ¢ A}
AL A=A BiA A=A
1 L Fooaay sl A e heve
oot B AL b =A A~ =4
ga = A~ U=a
. : 1 For sy toasts Aomd B, we hove
EA =B sA hA - B=B A
For exzmgpde, ifA= {1,334 S§and B= {13, 8 7,4} then "
i1 F three seis A, B and ©, we la
B {2 4) and B A= (7,8]. iy Rk, o
A Ch={AviE) O
Imeperiant Hesults e
A S B T {An B T
A=l 2 H=-A
- * i For sy fees set A, B aed ©, we have
[} Thescts A =B , B=Annd A m Boare disoil s:1s KA - O =T - (A LIC)
= ]
@ A-Bo AadB-ACH
Mt B O = (A B s (A 0
i A-p=AadA-A=d
6 ICA g sl we have AT = A
4.5 Symmetric Mlference af Tva Sels 7 Demarpan's Lins For ey thres ses A, B and ©, we have
The wsasaeies diflimence of two ot A snd B dessinl by m (A B —-A" - B
A B B deflned
<3l N (A By =4 B
Aop Be{A-BUOB-A)
A ; el A== {A-T) ~ {A-T)
Forexamgle, if A= (1,245} and B = [1,3,5,7,0) thes
M- ={A4-B] LifA-
A AB=(A-T) LaB-A)- 18] i (7.9) - (14T9] e
4
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Inipartant Results sa Operations sa Sets

fAc ALUBBCAUBA B AA-BCE
upA-B=A I (i) (A-Bp o B=A D
A-B) ~B=# (VIACB & C A

Wik A-TI = - Cvipl B DA B A
(VA E = (A B (B AL (A ey B)
(ix]A-(A-BH)=Am~E
{X1A-R=B.A c3A=H A LA By A=

(AR ATI={AABI AR

Wrile the set ol ol pasithes Integerswhose cube fsodd.

Sul

Tl elamzna of do: |:|'.:inrn|| ==l are g Sven
[~ Cabenfan even inteper is aleo an even inkeper]
Minrenwer, the cohe of a posirive add ifeger in a poditive

Wikt Uha st §5 2 % b pasBibve latagir and 57 <)) b= the
il a i foemn,

The squangs of postive inlgpas whose spaes o los
em 30 ar=- [, L5, 4.5,
Hemce the goven tet. in restes form is {1, 2,3, 4, 5]

Wrlte ihe sed [0, 1, 4%, 1E, ]l set bulliler fore

i

Thiz efemwents of the grven sat ane sqeans of s |
il £5 3 14 ...
Herce the given seq, im st il der fem, s fx™: xe X}

Szste which af the following sets are finite amd which are
infinke

(A= {sixeMNamdx!' -3+ 2~

il g (B ={x:xe’andx'="5
&= Theelementsodithe recpared sed are all posstive odd nfepers. (5 O {x 2 1 & N mmel x5 evem)
Hemes, 1he vegaired set, in thie et bunilder fonm, is ; (W) D={Ls% & Nand 2y —3 =1,
[+l k=0 ke f}
Sal, (DA=(LI)
[rrxi-dx+2=0=pdn-1)(x-2)=0=>x=1,12]
Heoco A is finise.
, 1'3 % 4 5 67 @ B={3.
Wrlle ihe s {.‘."' PR ET I'I} Im 1l sl
[ i ==+ ANl N
buildar fzrm. Hemce B is fmifte.
@y C={24.6...]
Sob o esch clement of tie given wt the denomdmaior is voe
e thom the rmmerstar Hewew C inmlivas
Al ite mumeraiors are from 1 07,
—_— - j L]
Hhence thue set builder form of tbe given sel is - -y [ e "f-|
[six=nin+l neN wd 1su=T}
Hewze T funte
3
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Whikh of the follewing are enapty { nulli seis T

) St ol el st el Eivisitebe by 2
ii{x:3<x<d 1 e}

(i) {x 1 x?= 18 and x §s am odd feteger]

) xca’ =2 =0 and s s rationad]

{vH1 i X common polal el any twe parallel lines).

Sal. o) Sinoe Dere s no odd paieal mosber, which 15 divislie

byL
S i A emply s

] Smce there is nonetiral member betwseen 3 and 4.
Sl i ety sel

() MNewn'=18 g+ 5 batlire odd

& Thescl {— 3, 5} is nooaopHry

{ivh  Simee thers is no mtionnl membes whose sqmre is 2,
S e piven sl B wn eupry set

vl Simeeany hwo pamllel [nes lnve po cooemon point,

- e piven st B sn sorpry set

Flnd the palrs of equal sces from e following sets, i sny,
Elvimg ronsomm

A=, B= {315~ 15 nnd X< 8],
C={r:x-5=@}, D= {x: ¥'=215},

E = {x: 3 I5 o posithve Imfegral moot of 1he cqmtion
-Ix-15=0y.

Bal. [Flere we berve,

A=q0}

B=4

=+ There is na muster, which @ preater Ban 15 ind less
thnn 5]

C=[5] [vR=F=0mex=3]
D= [-5, 5} [vwadi=g=d5)
nid E-=[5].

[ W =T=15=0 = {x-5px+3)=0 = =5 -3, Ouf of
thes tam,

4 ix positive imtegral]

',-.I.nu]:rE'—E

Are tive following pakrs of sets eqmal T Give reassns
MA={1L.2.B=[x:xbasmluionol x4 3x+3=0}

(4= {1 1k aletier bn che word FOLLOYW],
Hi={y: yl=a betier s the varl WIHLF].

Sol {ijA={1,2},B={-2-1}
[or ¥Wrlg+2=0 = DA+ )20 = 1=-3,—1)
Clealy a8
A= {E L L0 W) = {FO, L W)
B= (W, 0, L F}= {F0,L Wi
Cleary A=11,

LetAw={1,1,3,4,8), B={3,4.5, 67T}, C= {678 9 and
D= {7, 8.9, 10}, Fimi :

= i AcD ¢ DD
iy A v BuiCuD
& MA~E (i EAD LU Vol = T i

Sol. (W0 A B =L 25,4.5) o (34, 5,6T)

= {1,2,3,4,56,7).
i) BD=[3.4.567 o (LERW)
={3,4,5.6,7,8.9, 105
figd ALspuC =L A5 o 34,567 0 (6 TR0
={1.234,567 - 759 =(1.23,4.5,6,7.8.5}.
W) B QoD =34, 56T e (B TES) L [TES 10
={3.4,5,6,7.85.5) w (7,89, 10)= (3,456 7.8,9.10.
MR ArB ={1,20&5) M {34,567 =[3,4,5}
G Bl = (34507 ~ {785 K] =7}
(i} AmBAC={LZ34.5 ~ 34567 ~ {6T85=0,
451 6. T89]=4
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IEA = (2,3, 4, 8], A, = {3,4,5 6}, A =[4,5,67),nd
i Aand - A, wherei={1,2,3),

Sol @ A=A LA LA =(13.4,5 L BASE U
[4.3,6.7]
= {145 o [3.4.56,7)= (2,0, 45,6, 7).
G el = A A A&, =YL - [R5 6] e
(4,567
= (L3 A5~ (4,5.6) =44, 5]

Let 0 =§1,3, 3,4 5 6 7,8 9L Aa=(l, 2 3 4
A={2,4,f, . Fiad :
URAT () B

) AT wifawAay

Sal. @M AT = Bet of those elements of T, winch are nod m
A=15,67,8,9,

fil BT = Ser of these elemenes of 1, whsch are pod
B={13% 4571

fm)  [ASE = Sed of those =l ements of U, ahich are cod m

A= 1,23 4)=A
) AUB=[1234) 2468 (113468
{ﬁunf Bel ol thase glenwnb ol T, which s mal m

CALE) =57 0

Letd= (L & k4 & 8 B =ik 45 & 7 8} Fis
(A= 1) s (B- AN

Bol, Welime A= {1,234 56}mdD=§3 4 56781
SA-T=[1. 3 wed B - A= T, 8)
Sl e A= {12 o (VR = {02, T, B
Samne Bashy Hesults about Cardinal Namber

IEA, Band T are foriie sets amd 11 e the fmite tmiversal set,
Ikien

i A= a - m A

@ wlALBR) =wfA)+a(B)-m A )

[@r wiAo B (Al Y o (B whers Asnd B oars disjoint e -
gy iy

() miAeBT= e lA]-o (A B

% A B = s B i) -aiA U I

] w{AY BT Sp{A ~ B gl n A~ B

(rily wiA-Bi=m[A)-n{A~ B

[(widl) wiA e Bl = A Bl -n (A B -n (A0~ B

B3 A AR = e ) 4 e (T 4 00~ (e Bl ol s -
e o AN I B o )

B IPA AL A, A moe dispodin seis ,
Htﬁ.lq_l.-lu_l_l.ﬁ.J ) u.i.:}l-rrf.-';l:l-l- n{u';__'l-—ﬂ-:.‘l.,,'ln
ri:.l'll\_]

fad w4 & B = manber ol st wlech helong lo sxactly
one of A o B

WA=(1, L3 B=14,56) and C=[7,8, 9], verlly that
.ﬂul.-{E"'.I::I - I:I'Jul..‘ﬂ-':l o fnl.l_lf].

T = [z : % laaleiter in Englivh alphaben],
Am|xx iavowel in English alphabet).
Find 4 and {47},

Sal (5) Simee A= (% o alenier in Emplish alphabet},
' AL s the set of thase elenbniis ol 17, whisch sre nod wiveels
= [%: X I% & consons i English alphaba)

(M (A9 is e set of those eloments of 1T, wivich are ol
compoepnls = 5 X ma voseel
m Emglish alpbahet) = 4.
Hewee (AT =4,

Wehave, A= {1,2 3], B = [4, 4, 6] and = [T, 9, 9].
A B 33w [ ESE— {1 334, 505 (1)
B ={LL3] . [T.55

= [1,2.3,7,8,9} -
wod BrC = L5 6 (TR 03
Mow AL(BAC)={L 2, 3} i ={1,2,3) TEl

md  [AUB) O AC) = {1, 2 34,5,6] ¢ (12,3 T8 6
=i, 23] [
From(}ad {5}, AL{BAC] = [AuB){AwC), which
weriies Hhe resnlt
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Let U={1,2, 5,4, 56 7,89, A=[2 46 B and
B= {2, 5,5, 7). Verify that

iy (AB) = A" ~B" (8 [Arn) =at LBt

Bol, ‘Welive A= {2,4,6,8) and B~ (2,1, 3, ?:|.
III BB (40, 8] (5,33 T)
=134, 4678}
(AuBY =119 A1
Also AT= {1,3,1,2,9}
and BE={| 4,868 %)
Pil:l'_"-ﬂl 025 T oy |46 3R]
= {1,¥ L)
From (1) and (2}, (AB)" = A% 0, which verifies the
reau.
@ ArB-EEAGH A L1572
(ArB) ={1.3,4,%4 7. 8.5 -3

sl AT, pE=(13.57.00 o {146,389
= [1L3,4,56.7,89) .09

Frow () aud (4], {.‘.HE}I’- = Af 28", which verifies the

remi.

IF A nmd B are mny fwo sels, prove wedng YVenm Diagrams

MA-BE= A~ (I{A-B) B =AUB.

Prove tha
ArvB=C)= (A =-{am ]

Sal. Letx he an arbdmry element o fA ~(B - )

Thenx & & (B =1

A xe Asedx & (BT

= meAsndin = Rapdx ¢ O}

=5 fE Aandx e Blandix e Aanda &)
- e Rimmds e {AAC)

= x¢ [(AnBl={a~C)
Ad(B-CheiAB - (AT A1}
Lt b g arlsdieary elemesn of LA =~ Bl - (A~ Tl
Theny & (A Bl - {4 )

b ¥yl mmdy & (D

= (¥e hamdy e Dyamd iy € Aand y ¢ )
= vE Ay Bandy e OO

= yeAudys[B=0)

3 yu An(BE-C)

fAABE - (AT e Ari(B-C) iy |

Copnlming {1 il (2]

A =-C1= (A Bi-{A )

Pronee the fallewing:

ACHexHLT A

Sol. Letx & B wdiere 8 bs a0 bilreey

Mow x B
= =xab

= HLEA

] L

Fe= At

|- AcB|

AL}

Comversely : Letx & A, wherex s arhitrany

Mow KeA
= XTEA
s x#FB [+ B AT
= =achH
Ak
Combining (1 and {2} A c B s B'c AN
B
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Praove il following
A-B=A-{ArB)

whene LT i thie il versal 1,

Latx ¢ (A—B). wiwiex & abatrany.

Nowx c (A -B)

= KeAswlieB

= (xeAmdye Alandx e B
[Tt [his sop]

e xeAand{xe Andx e B)
[Associative Law]

e xedsnds (A

& xedA-{A~B}

Hence A-B=A-{Ar 1}

1o n class af 200 siudents who appesed G a coamen
exammsAimn 35 shedinds Gubed i MITTCET. 40 m AIEEE,
0 im 0T, 20 Eribed in MITTCET s AIEEE, 17 m AIEEE
and [T, 15 mMHTCET anc IT1 amd 5 Giled mall three
examinatinme. Fiond b nery ehidente

i Did oot sy exaommalson

(i} Failed mATCEE aa 1T

oM = 15 alM A AT =S

RO =2

phd e A D) = sibi)+ AT+l

bl o Al-nfAn D-nMaD+aiMadas
=13+ dl-rd—- ) -1T-15+3=6
Mubser ol soadetits passed s all dece cxmnimtion
=20 -85 =132

ek off sauckenrs Eaed i 1T of ALIEEE
=0l A =l n{Ad - nfl ~Ad

=40=40—17 =63

T D], 25 smidcans wke vea, 20 sl whe culTee,
15 siudets ke nuik, 10 sondents take ol jes amd e odlee,
& shudenis tike boih milk md coffes. Moo of e them
take tea aud milk both and evervore takes atleast one
bevemmpe, fnd the mumber of students i the ol

Fal.

) = 35, m{AY = 0, (=20
ol Bl A = 20, niA e D= 17,

CHk

Lt the sets, T and C iod et K are the stodenls who dosk
vea, oodfee md nedlk resipectively. This problens eam be sedved
by i dingraim

6T = 28, 6= D (A= 13

o A= 10, i )=

Rumber of shadenis in hosiel

= [T wr Tl

ST UK =15+ 10+ 2+ 85+ =42
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Some standard nofations fo represent seis :
b B the set of natural nombers
W the sct of whoele numbers
e the set of intepears

L the set of positve infewers
& the sel of negative integers
0 the set of rutional numbers
k: the set of imational numbsers
K the et ol real tumbers

! the 3¢t of complex numbers
O her [requently used symbals are
=) ‘belongs o'

3 "‘dives nod helowgg fi"

3 : There exists, A : There does not exist.

INTERVALS AS SUBSETS OF REAL NUMBERS

An interval | is a subset of R such that if ¥, v £ | and z is any real numbers between r and
ythenz e L

Any real number lying between two different elements of an interval must be comained
in the interval.

Ife, b el and a < b, then we have the following types of intervals -

() Theset [x eR . a<x<b} iscalled an open interval and is denoted by (a, ). On
the number line it is shown as .

—{:—Di
a b

(@) Theset (xR a<x<biscalled 2 closed interval and is denoted by [w, 4]. On
the number line it is shown as |

10
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e Br— -
d b
{m) Theset [x cR:a<x<b)isaninterval, open on left and closed onnght. It is denoted
by {2, 4], On the rumber i it is shown as -

. —
J ]
(v) Theser {x eR:a<x<8} i aninterval, closed onleft and open onnght. It is denoted
by [a, 5). On the number line it is shown as

—_:}—
J b

(v) Theset {xeR:x<alisanmterval whchus dentoed by (-, a). Itis openon both
sides, On the number fine it 15 shown as

< O

[

(W) Theset {x eR : x <o} 1s an mierval which s dencted by (e, a]. [11s closed on the
right. On the number Lne it 15 shown as ;

—e

(4]

(i) The set {x =R : x> o} is an interval which s denoted by (o, =). It is open on the
both sides. On the number line it is shown as ;
Q >

]

(viii) The set [x R : x = a! is an interval which is denoted by [a, =), It is closed on left.
On the number ling 1t is shown as -

— >

- i

11
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First four intervels are called fimte intervals and the number & - o (which is always positve)
i5 called the length of each of these four intervals (o, 8), [a, A1, (g, &] and
[a, &)

The lase four intervals are called infinite intervals and length of these intervals is not defined.

BY ONE MORE WAY, STUDENTS YOU CAN UNDERSTAND THE
TOPIC OF

POWER SET

\ T/C
.LL AN '*~:;.".._.J}

S POWER 5ET

Let A= |a,b) then, Subsetof Aare ¢, {a}. |b} and {a, b).

IF'we consider ihese subsets as elemenis ol a new sei B {say) then, B = {§, {a],{b}, [a.b}}
B is said to be the power set of A

Notation : Power sel of 2 set Ads deroted by P{A).
and itis the set of all subsets of'the given set.

w Write the power set of each ofthe following sets ©
@ A={x:xeRamdx® T=0)

{ii) ﬂ“[y:yENandlEyi]}.

12
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Solution :

1) Cleerly A= ¢ (Mull set), .. ¢ wtheonly subset of given set, -, P(A)={¢ )
()  Theset Bcanbewrittenas {1,2, 3}

Subsets of B are §, {1}, {2), {3}, {1, 2}, {1, 3}, {2,3},11,2,3).

PM)={ ¢.115 12} 13).11.2). (1.3, (2,31 {1.2,3} ).

Write each of the following sets as intervals

1) f{xeR:-1<x=12] ) fxeR:122x-3 =0}
Solution : (i) The given set = {x eR | =1 <x = Z}

Hence, Interval of the given set = (-1, 2]

() Thegivensel = {xeR:122x-3 =0}

i
= reR:4z22x =2 3). -—:r{.rtaﬂ.'.zf_'-xz-_-}—}

ot £ _ 3
= If eR:-sx '3"-] . Hence, Interval of the gmiven set = u:iﬂ.:|

FEW MORE EXAMPLES
EXAMPLE: 1.13
‘Which of the following sets can be considered as a universal set ?

X = {x:xisareal number}
Y = {y:yisanegative integer}
Z,= {z:zisanatural number}

Solution : Asitisclear that bothsets Y and Z are subset of X.
= Xistheuniversal set for this problem.

13
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EXAMPIE:1.14

e (Given that
A = {x:xisaeven natural number less than or equal to 10}

Lmi B = {x:x s an odd natural number less than or equal to 10}
Find ()A-B ({i)B—A (i) isA—B=B—A?

Solution : Itis given that
A=1{2,4,6,810},B=(1,3,57,9)
Therefore, ()  A-B={2,4,6, 810}, @ B-A={1,35709)
(i)  Clearly from(i)and (i) A-B = B-A.

EXAMPLE: 1.15

;Let LI be the umiversal set and A 1ts subset where

U=f{x:xeN und x <10}
A = [y visaprime number less than 10}
\Find (i) A (ii) Represent A= in Venn diagram.

Solution : It is given
U={1,2,3,4.5,6,7.8,9 10}.and A= 2, 3,5, 7)

14
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() A°=U-A-{1,4,6,8,9, 10}

R
~

(1)

Example 1.06 Crrven thal

A [x.xisaking outl of 32 playing cards)
and D= v:vyisaspadeout of 52 playiog cards}
Find (i) A ~ B(ii) Represent 4 -, B using Venn diagram

Solution : (i) As there are only tour kings out of'52 plaving cards, therefore the set A has only
fouir elements The set B has | 3 elements as there are |3 apade cards it ot of these 13 spade
cards thereis one king alzo. Therefore there is one common element inAand B.

. A B= | King of spade},

(i}

Al Ny

- W

LET US SUM UP

= Asetis a collection of well-defined distinct (different) objects.

15
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To represent a set in Roster form all elements are to be written but in set butlder form a set
isrepresented by the common property of its elements.

I the dlements of a set can be counted then it is called a finite set and if the elements
cannot be counted, it is mfinite.

Ifeachelement of set 4 is an element of set &, then A is called sub set of 5.

Fortwosetsdand B A - B 15 aset of those elements which are inA but not in 8.
Complement of'a set 4 is aset of those elements which arein the universal set but not in
A ie pe=1-A

Intersection of two satsis a set ofthose elements which belong to both the sets

Union of two sets s a set of those elements which belong to either of the two sets.

Any set A1 said tobea subset ofaset *B i every element of A1s contamed m B
Empty set 15 a subset of every set.

Every set is a subset of itself

The set "A'1s 2 proper subset of set B IfFAZ Band A= B

The set of all subsets of a given set *A'is called power set of A.

Twosets Aand B arcequal fA < Band B C A

If n{A) = p then number of subsets of A ={2)°

16
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o (ab),[ab](a b)and[a, b)arefiniteintervals as their length b - ais real and finite.

o Complement of a set A with respect to U is denoted by A" and defined &
Al=lr:xeUandx g A)

e A=L-A
o IfAcU thenA'cU

W e e o e M e s s e e

WRITE ALL BASICS/ EXAMPLES AS GIVEN ABOVE

&

Do

Ex1.1 TOEx 1.6

WITH ALL
N.C.ER.T EXAMPLES
from
N.C.ERT. MATHS BOOK

ALL WORK 1S TO BE DONE IN
MATHS CLASSWORK REGISTER

FOR ANY FURTHER QUERIES/DOUBTS, FEEL FREE TO CONTACT:
ASHWANI KUMAR SHARMA 9818448039

Compiled by: AKS (PGT: MATHS)
ST. MARY’S PUBLIC SCHOOL
THANKS

17

Scanned with CamScanner




